BOARD OF FIRE COMMISSIONERS Hopewell Borough Fire District No. 1 PO Box 141 Hopewell, NJ 08525

RESOLUTION 2024-34

A RESOLUTION TO AUTHORIZE TESTING OF HOSE, PUMP AND LADDERS

WHEREAS, the Hopewell Borough Fire District No. 1 in the County of Mercer, State of New Jersey, has a need to keep equipment in excellent working condition by performing testing and annual maintenance by certified technicians; and,

WHEREAS, quotes were solicited for from three different vendors; and,

WHEREAS, the following vendors responded; Waterway, 304 Thames St, Newport, RI 02840, in the amount of \$3,888.60; FireFlow Services, Inc, 550 Campus Dr, Mount Holly, NJ 08060, in the amount of \$4,540.00; and Fail Safe Testing, 16140 N Arrowhead Fountains Center Dr, Peoria, AZ 85382, in the amount of \$5,118.85; and,

NOW BE IT RESOLVED, on the 10th day of July 2024 by the Board of Fire Commissioners of Hopewell Borough Fire District #1 in the County of Mercer, State of New Jersey, authorizes the award of testing pumps, hoses and ladders to Waterway, 304 Thames St, Newport, R1 02840, in the amount of \$3,888.60.

BE IT FURTHER RESOLVED, by the Board of Fire Commissioners of Hopewell Borough FD#1 that this resolution together with a properly executed purchase order shall constitute an agreement between the Board and Waterway, subject to all conditions applicable any contract implied.

Roll Call Vote:	Motion	Second	Yes	No	Absent	Abstain
Commissioner Myers		/	/			
Commissioner Evans	/		~			
Commissioner Davies			V			
Commissioner Blasi			V			
Chairman Morehouse			/			

Certified as a true copy of a Resolution duly adopted by the Board at a meeting on July 10, 2024.

John Blasi, Secretary



Date: 01/31/2020

304 Thames St.
Newport, RI 02840
scheduling@usfireservices.com

To:

Hopewell Boro Fire Dept

Expiration Date: 12/71/7024

2024 Testing Est	timate	Payment terms	Due date	也一個人但你們們可能的主義	1000 · 1000
		Net 30	TBD		
Check	Produ	act/Service	Qty	Rate	Total
Requested Services					

Check Requested Services	Product/Service	Qty	Rate	Total
1	Hose Testing	7995	50.28	\$2238.60
	Hard Suction Testing	0	\$35	\$0
148	Ground Ladder Testing	225	\$3.00	\$675.00
	Nozzle Testing	0	\$35	\$0
7.5	Appliance Testing	0	\$35	\$0
	Pump Testing	3	\$325	\$975
Section 1	C SAMULTINESS C			
			and the second section of the section of t	of at the the manager of the
				17
		Estimate Total	THE PARTY OF THE P	\$3888.60

FireFlow Services Inc.

500 Campus Drive Suite C Mount Holly, NJ 08060 +1 6092888486 www.fireflowservices.com



ADDRESS

Hopewell Boro Fire Department 4 Columbia Ave Hopewell, NJ 08525

If you need an Aerial Test please contact our Sub-Contractor Aeria. TOTAL

Festing Company to receive FireFlaw customer pricing.

QUOTE # 5095

DATE 04/30/2024

EXPIRATION DATE 12/31/2024

\$4,540.00

Hose Testing Annually Fire Hose Testing Perform fire hose testing per NFPA 1962 standards	8.000	0.32	2.560.00
Ground Ladder Testing Annually Ground Testing per Perform NFPA 1932 Ground Ladder Test-Price is PER LADDER	12	65.00	780.00
Special Note "" IF NEED TO BE REPLACE "" PRICE: \$ 3.00 per sticker Heat sensor stickers for Ground Ladder per NFPA Required: 4 Heat Sensor stickers for Main Section and F y Section.	1	0.00	0.00
Fire Pump Testing Annually Fire Pump Testing Perform on site pump testing per NFPA 1911	3	400.00	1,200.00

Accepted By

ATC (800) 237-1197

Accepted Date

IIA Fire Department Testing 16140 N Arrowhead Fountains Center Di Suite 108 Peoria, AZ 85382

Phone: (732) 294-7904 Fax: (732) 339-3413

fdtsales@industrial-ia.com

Bill To:

Hopewell Borough Fire District

4 Columbia Ave Hopewell, NJ 8525 Chief Daniel Galatro

Ship To:

Hopewell Borough Fire District

4 Columbia Avenue Hopewell, NJ 08525





Quote Number: 00118674 Quote Date: 01/01/2024 Expiration Date: 12/31/2024

P.O. Number:

Contact: Schafer John Fire Fighter / EMT

Phone: 609-466-0060 x114 Mobile: (609) 209-6052

Email: jschafer@hopewelltwpfire.org

QUOTE

Customer will be charged, and final price adjusted based upon the actual equipment quantity/lengths tested

Description	Quantity	Rate	Total Amount
Fire Pump Test <= 1500 GPM	1.00	350.00	250 00
Annual fire pump performance testing as per NFPA 1911 (less than or equal to 1500 GPM)	1.00	350.00	350 00
Fire Pump Test > 1500 GPM		275.00	750.00
Annual fire pump performance testing as per NEPA 1911 (greater than 1500 GPM)	2.00	375.00	750.00
Heat Sensor Label	200	2.75	0.70
Heat sensor for ground/aerial ladder	1.00	2.75	2.75
Fire Hose less <= 5 in Test	25/6/18	0.00	
Annual fire hose testing as per NFPA 1962	8000.00	0.30	2400 00
Annual Aerial Test			
Annual aerial ladder testing as per NFPA 1911 (Non NDT) (Heat Sensors separate line item if required)	1.00	850.00	850 00
Ground Ladder per foot Test			200
Annual ground ladder testing as per NFPA 1932-2015 (Heat Sensors are a separate line item if required)	225.00	2.85	641 25
Fuel Surcharge	1.00	124.85	124 85
	12/14/04/02/04		170.000
	TOTAL 5118.		5110.05
			0110.00

To Schedule Service, Sign Below and F	Return to IIA Fire Department To	esting Promptly via Fax, Mail, or En	nail
Signature:	Title:	Date:	